
View from inside

Step 7

Step 8

Screw 
M4x8

2

SW238229

Size: 
           

900x900x1950mm



View from inside

1



        1xInstallation
          Instruction.

[2]  8xScrews M4x8.
      

[3] 2xWall Post.

[4]  2xFixed Panels.

[9]   4x Rails
(with stoppers pre-installed).

[8] 
   

2xHandle Sets.

[10] 
     
       

     
     

2xCorner Connector.

[7] 2xMagnet Seal.

[6]  4xBottom Rollers.
      2xDoor Panels.
      4xTop Rollers.

[1] 8xWall Plugs.
     8xScrews M4x35.
     4xJumpers.
     8xScrews Cover Caps.

[5] 4xWater Deflectors.
     4xDeflectors.

[11] 4xBumper Blocks.
       4xScrews M4x10.

[12] 2xProfile Covers.
      

      8xScrews Cover Caps.



[1]  8xWall Plugs
[2]  8xScrews M4x35
[3]  2xWall Posts
[4]  8xScrews M4x8
[5]  2xFixed Panels 
[6]  4xRails 
[7]  8xDeflectors
[8]  4xBottom Rollers

    
       

[9]  2xDoor Panels

[10] 2x Magnet Seals
[11] 2xHandle Sets 
[12] 4xTop Rollers 
[13] 2xCorner Connectors
[14]  2xProfile Covers

[16]  4xJumpers
[17]  4xScrews M4x10
[18]  16xScrew Cover Caps

[15]  4xBumpers

[8]

[9]
[6]

[7]

[13]
[17]

[10]

[11]

[12]

[15]
[1]

[18]

[2]

[3]

[4]

[14]

[16]

[5]

2

4

4

2

Screw M4x10

5

View from inside

1
1

3

1

1
2

3

3

5

885-9
05(9

00m
m

) 885-905(900m
m

)


	页 1
	页 2
	页 3
	页 4

